YEAR 9  Revision Test 1
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Question 1

6982.5473

a) Which digit is in the tenths column?
……….
b) Which digit is in the thousands column?
……….
c) How many hundredths are there?
……….
Question 2

a) 96 x 100  =
……….
b) 26.34 x 1000  =
……….
c) 0.956 x 10  =
……….
d) 4000 ÷10  =
……….
e) 0.4 ÷ 100  =
………..
Question 3

Place ÷10, ×100 etc above each of the arrows below:

a) Millimetres   (
Centimetres       (
Metres       (
Kilometres

b) Millimetres    (
Centimetres       (
Metres        ( 
Kilometres

Question 4

a) 400cm =
…………..m

b) 4.6km =      
…………..cm

c) 600mm = 
…………..cm

d) 0.15km = 
…………..m

e) 85m = 
………......mm

Question 5

a) Rank these decimals in order from smallest to largest

0.5,   0.23,   .429,   1.06,   0.221,   6.95
…………………………………………………..
Question 6

a) 
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c) 
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Question 7

Using the signs:  -  +  x  (  ( )     make the following statement true.

1   …..…  2  ..……  3  ..……  4 =25

Question 8
a) 5  +  -2   = …..….
b) -4  -  2   = ……..
c) 5  -  -9   = …..…

d) -10  +  6   = …..…

e) 5  -  -2  +  6  +  -3   = …..
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